DLX TRIPLE PLAY STRAT ® (014-1800-300 / 014-1800-306)

PARTS LAYOUT

(31) 32

33 34)

:

S
B

10 )
(25) 28 ~ =2 :
(S —
26 28 000000 ® 11 12 CSX:}E
€ 16

0
. =

f0-0 0 0 0-0 Q 11 @
©

(0-0 0 0 0-0 @ ®

0 == D

37)38)

:

N
©
N
S
EM'aTcﬂEIﬁ

o

w

o
N
—~
N

?@E Page 1 of 6

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION JAN 04, 2014 - Rev. A




DLX TRIPLE PLAY STRAT ® (014-1800-300 / 014-1800-306)

PARTS LIST
REF # DESCRIPTION PART NUMBER

1 BODY STRAT TRPLPLY BLK 7704174506

BODY STRAT TRPLPLY 3TSB 7704173500
2 KEY GTR DUAL PIN MNT 0037429000

NECK STRAT TRPLPLY RW 7704182000
3 KEY GTR DUAL PIN MNT 0990820100
4 WASHER KEY 0053106049
5 BUSHING KEYS 0058820049
6 STRING GUIDE NICKEL 0994910000
7 SCRW SMA 3x5/8 RHP NI 0011358049
8 PICKGUARD STRAT 1HB P/B/P TRPLPLY BVL 7704175002
9 SCRW SMAB 4x1/2 OHP NI 0015578049
10 FISHMAN TRIPLE PLAY KIT 7702534000
11 KNOB STRAT VOLUME PARCH 0056254049
12 CONTROL 250K 10% TPR 0990830000
13 WASHER LOCK INTL 3/8 X .687 0016436049
14 NUT HEX 3/8-32x3/32 TK NI 0016352049
15 CONTROL B25K 10% TAPER 7702473000
16 SWITCH 5 WAY LEVER W/METAL 0991367000
17 SCREW-MA 6-32X5/8 RH ZARTAN 0994925000
18 KNOB PICKUP SWITCH PARCHMENT 0056253049
19 USB GUITAR 1/O BOARD ASSY 7703232000
20 JACKPLATE, I/0 PCB HOLDER, USB GUITAR 7702480000
21 JACK PHONE 1/4 - OUTPUT 0047329049
22 NUT HEX 3/8-32x3/32 TK NI 0016352049

7 oot

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 2 of 6
JAN 04, 2014 - Rev. A




DLX TRIPLE PLAY STRAT ® (014-1800-300 / 014-1800-306)

PARTS LIST
REF # DESCRIPTION PART NUMBER
23 WASHER LOCK INTL 3/8 X .687 0016436049
24 FERRULE JACK CHR STD STR 0033023000
25 PICKUP ASSY NF NK/MID PARCH 0074275010
26 PICKUP ASSY NF MID PARCH 0074275011
27 P/UP PRLY GATES SD 0050165000
28 SCRW 6-32X3/4 RHP TAPTRI L ZA 0048631049
29 SCREW-MA 6-32X5/8 RH ZARTAN 0994925000
30 STD BRIDGE ASSY RH SGGB 0071014000
31 CLIP, FISHMAN USB TRANSCEIVER 7702481000
32 USB THUMB DRIVE W/SOFTWARE 7704342000
33 BUTTON STRAP NI 0.156 0994915000
34 SCRW SMAB 5x1 OHP NI 0015610049
35 PLATE NECK MTG-CHR, STD STR 0033024000
36 SCRW SMA 8x1-3/4 OHP NI 0015636049
37 BACK COVER STRAT SPRING BWB 0081420000
38 SCRW SMAB 4x1/2 OHP NI 0015578049

7 Joadsere

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 3 of 6
JAN 04, 2014 - Rev. A




DLX TRIPLE PLAY STRAT ® (014-1800-300 / 014-1800-306)

WIRING DIAGRAM

MIDI VOLUME

G LARGE BLACK
E YELLOW
D WHITE
\ \ S BLACK
‘ ‘ U RED
| | NECK PICKUP 5
° 300000
RWGGMS
MID PICKUP .
W1 BARE WIRE
wg g';;%f\‘ 5 WAY SWITCH
SELECTOR
W4 WHITE BRIDGE PICKUP
W5 _RED BARE WIRE ® ®
\?vitl)TE 322 S °
1%
BLACK Ko / "
GREEN .~2¢’"/A\ | ece s & ece © N
MIDI ==
VOLUME = A

HEADPHONE
LEVEL

il

USB CABLE

TO PCB CONNECTOR JACK PHONE

TO PCB CONNECTOR

WIRES TO
FISHMAN MODULE

NSRS
PICKUP'S

N

J5

\’ 2 & & eQe

:

VOLUME
\%'*':

i

RIBBON CABLES TO

PCB

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION

\ OUTPUT

JACK

FISHMAN

MIDI PICKUP

BROWN
BLUE
GREEN

RED

WHITE
YELLOW

G BLACK

G LARGE BLACK

N

BLACK WIRE
TO BRIDGE

GROUND LUG
WIRE

/ PCB

WITH FISHMAN LOGO
FACING BRIDGE

1234

Of==w

123

5 @o

Page 4 of 6
JAN 04, 2014 - Rev. A




DLX TRIPLE PLAY STRAT ® (014-1800-300 / 014-1800-306)

NECK —
PICKUP

MID ———
PICKUP

BRIDGE ——
PICKUP

FISHMAN
PICKUP

ﬁ’%

SWITCH & CONTROL FUNCTION

5 WAY SWITCH POSITION
5 4 QOn
SELECT %b% %bb %Ki ) %% SWITCH POSITION
% 1
DWN Q@ upP o | c> | > | > | > |=— NECKPICKUP
Y
N
/
\/\ | EXIT CO|CD | D | T | T |=—MD.PICKUP
/
| /
RN N /
\
| / cCoO|lco|lco |a | a
- ‘ / | = | &= | — | &= r BRDcEPICKUP
I
|
0 | 2]
| ) | PICKUPISON INDICATES POSITION
[ f / OF 5 WAY SWITCH
O : / D | PICKUPIS OFF o 1
\ /
/
T ® e D-PAD
000000 )® ! / ALLOWS NAVIGATE
| WITHIN FISHMAN SOFTWARE
USB AUDIO INTERFACE n
5.WAY SWITCH FUNCTIONS AVAILABLE
GUITAR MIDI
FUNCTION MODE MODE
\— PICKUP'S
® VOLUME PICKUP'S
VOLUME
®
" — MiDI MIDI
VOLUME VOLUME
® HEADPHONE
LEVEL HEADPHONE /£,
LEVEL v
FISHMAN Q/
PICKUP
NECK Q/
PICKUP
HEADPHONE OUTPUT
MID M
USB OUTPUT PICKUP
BRIDGE Q/
PICKUP
5-WAY Q/
SWITCH

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 5 of 6
JAN 04, 2014 - Rev. A




DLX TRIPLE PLAY STRAT ® (014-1800-300 / 014-1800-306)

CONTROL FUNCTION FOR WIRELESS CONNECTIVITY

\\

=)

PLUG IN
USB WIRE TO THE PC

PLUG IN
HEADPHONE WIRE

o
(’i’/

A
@ PLUG IN o

USB WIRELESS TO THE PC e/

6 T —
EY.
(4) TURNON

./ POWER SWITCH gTrﬁpH@Pﬂay

nnnnnnnnnn

—
—

@ PRESS
USB WIRELESS BUTTON

—

(G PRESS — gTrﬁpH@Pﬂay

=~/ MODULE WIRELESS BUTTON

Wireless Guitar Coniroller

)

?@E Page 6 of 6

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION JAN 04, 2014 - Rev. A




